[ BRAND MODEL SHEET: REVISIONS
CLOPAY | 904, 904Ux, AXx, AXUx THIS PRODUCT COMPLIES WITH THE 2018 IBC/IRC 1 OF 2 [Rev. NO.[ ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL ] CAAL, CAALU DSB LITES OR BETTER, ANNEALED OR 00 | ALL 10/22 JDW INITIAL RELEASE
* — MODEL ONLY AVAILABLE TO 20'2" WIDE. CJ&?IQ‘ERSE £N§#hAEIEEDG(ISA§ZI¥€MI§E£éB
DSB LITES. MAX DLO 43.875" X 19.5". 3"x2"x1/4" ALUMINUM L—ANGLE ON VERY
— -1 TOP AND BOTTOM OF DOOR. ATTACHED
I WITH (2) 1/4"x1" SELF-TAPPING SCREWS
1\ 1 AT EACH END, (1) 1/4"x1" SELF—
CENTER STILES FASTENED TO RAILS e o :JDE?f)H LA AT
WITH FULL LENGTH 1/4" DIA. THREADED SELF-TAPPING SCREW IN THE MIDDLE OF
== STEEL RODS AND FLANGE NUTS. EACH PANEL. (15) TOTAL SELF-TAPPING
: an ‘)15 | SCREWS PER L—ANGLE.
N N\ L
: -t __L% \ SECTION 1 _— 1
<+ \ |
~ ' \ \ \ \ 1 L )
P | \ \ ' ADUSTABLE TOP ROLLER BRACKET
X< =, OF 12 GA. GALV. STEEL
] : FASTENED WITH (4) #14 x 5/8"
> ' 3 SHT MTL SCREWS.
o
B2 o K =~
o° :
w POINT "
n x CENTER HING 1/8" DSB, TEMPERED, ACRYLIC. OR
o LOCKING.  ATTACHED TO INTERM. BOTTOM RAIL WITH 174" GLAZING, OR 1/2" INSULATED OR
<—(' o .. ' —~_ )/ INSULATED TEMPERED, 0.050"
<0 (2) #14x5/8" SMS AND TO FIN ON ~ ALUMINUM PANEL, OR 5/8" TRIPLE
o X INTERM. TOP RAIL WITH (2) 1/4-20x1" N~ WALL POLYGAL. EACH PANEL HELD WITH
E S HEX HEAD MACHINE SCREWS AND NUTS. EERIMETER COMEOSITENSOARIN BEARE
] SECTION 2 — 2 3" TRACK LONG STEM
< ’ ROLLERS WITH PUSHNUTS
S 14 GA. ROLLER HINGES ATTACHED

UP TO 6'0" 3
FROM 6’1" TO 8'0"

MAXIMUM WIDTH: 24'2*
MAXIMUM OPENING SIZE 24’07

FROM 81" TO 10°0°
FROM 10°1" 70 120"
FROM 121" TO 140"

WITH (4) #14x5/8" SMS ALONG
CENTER OF EACH HINGE AND (4)
1/4"x3/4" SELF TAPPING SCREWS

3"x2"x1/4" L—ANGLE
REINFORCEMENT, (1) L—ANGLE ATTACHED

3"x2"X1/4" ALUMINUM L—ANGLES AS SHOWN. ONE L—ANGLE ON TOP
OF EACH SECTION PLUS ONE L—ANGLE ON BOTTOM OF DOOR. SEE
SECTION 1—1 FOR DETAILS OF ATTACHMENT TO DOCR SECTIONS.

NOTE: DOORS 18'3” TO 20'2" WIDE ARE FIVE PANELS ACROSS.
DOORS 20'3” TO 24'2" WIDE ARE SIX PANELS ACROSS (SHOWN).
1" OVERLAP BOTH SIDES

I END STILES FASTENED —
.-:g&_.@'.ﬁ_p_s}‘\.. TO RAILS WITH FULL SECTION 3—3

F o “de, LENGTH 1/4" STEEL

£*5 *) RODS AND FLANGE

| Bt O R Bl NUTS.

a MARK WESTERFIELD 2

) «%___' 91513 7

BRACKET FASTENED TO WOOD

7/16" PUSH—NUT,
ONE PER ROLLER.

INTERGAL FIN ON
INTER. TOP RAILS
NOTCH CUT AT
END STILES.

SEE PAGE 2 FOR DIFFERENT
JAMB CONFIGURATIONS.,
DESIGN ENGINEER:

MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513

i
REINFORCEMENT: i

FROM 141 TO 180"

311X2nx1/4u L—ANGLE TO EACH INTREGAL TOP RAIL FIN, WITH

FROM 16'1" TO 18'0"

Olm|N|l®| 0| s

(2) 1/4"x1" HEX BOLTS AND FLANGE

FROM 181" TO 200"

MODEL 904 (6063-T5 ALUMINUM):
TOP RAIL MIN THK 0.075"

STD END STILE MIN

THICK 0.075

STD BTM RAIL MIN THK 0.075"

CENTER STILE PMIN

INTER. TOP RAIL MIN THK 0.062” W/ 0.100” FIN

INTER. BOTTOM RAIL

14 GAUGE

THK 0.075"

MIN THK 0.062"

ROLLER HINGE FASTENERS

JAMB WITH ONE 5/16"x1-5/8"
WOOD LAG SCREW PER BRACKET.

#14x5/8" SHEET
METAL SCREWS

1/4"x3/4" SELF
TAPPING SCREWS

#14x5/8" SHEET
METAL SCREWS

6061 ALUMINUM N NUTS AT EACH HINGE LOCATION, (1) 3/8"
o BOLT AND NUT AT EACH END OF THE
L—ANGLE, PLUS (1) 3/8" BOLT AND NUT
i IN THE MIDDLE OF EACH PANEL.

BOTTOM ROLLER BRACKET OF 11 GA.
GALV. STEEL, FASTENED WITH (4)
#14 x 5/8" SHEET METAL SCREWS.

BOTTOM SECTION USES A
TEMPERED ALUMINUM EXTRUSION
WITH INTEGRAL RETAINER FOR FOR
INSTALLATION OF FLEXIBLE VINYL
ASTRAGAL.

FLEXIBLE VINYL ASTRAGAL.

DESIGN LOADS: +25.0, —27.5 PSF
TEST LOADS: +37.5, —41.5 PSF

8585 Duke Boulevord
= nlnpay. %{?SON:" §q§4%§4:0&:|§(5:3 CLOPAY WINDLOAD RATING
. NO. = =
CORPORATION  Fax No. 513-770-4853 \/\/ 4
DESCRIPTION:  M/N 904 24 WIDE +25/-27.5 PSF

DRAWN BY: Mww DATE: 10/10/22 SCALE: DWG.
CHECKED BY: DATE: SHEET 1 OF 2 [SIZE
DWG. NO.: 105886 VERSION: TDI

4

N

2




4 3

2 | 1

BRAND MODEL SHEET REVISIONS
CLOPAY | 904, 904Ux, AXX, AXUX 2 OF 2 [Rev. NO. ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
IDEAL | C4AL, C4ALUx - - - — - SEE PAGE 1 FOR REVISION DETAILS
JAMB NOTE: FOR JAMB TYPES AND JAMB ATTACHMENT FASTENER INFORMATION
INCLUDING FASTENER TYP | N PACING) TO T PPORTIN
ORI IRATON Aok & DOOR STRUCTURE USE DASMA TDS—161. DESIGN OF THE SUPPORTING
OPENING DOES NOT AFFECT THE WIND STRUCTURURAL ELEMENTS SHALL BE THE RESPONSILITY OF THE PROFESSIONAL
t%o L%q\;van-?EA%'; Jghlds B%?_IR.U F?TANDARD OF RECORD FOR THE BUILDING OR STRUCTURE AND IN ACCORDANCE WITH
VERTICAL LIFT OR FOLLOW THE ROOF CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING.
PICTH TRACK IS ALLOWED.
LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
., NOTE: HORIZONTAL TRACK CONFIGURATION ATTACHED WITH (2) 1/47 x 3/4” SELF TAPPING
5~ TRACK CONFIGURATION ABOVE THE DOOR OPENING DOES NOT AFFECT REWS.
(2” TRACK IS NOT AVAILABLE) THE WIND LOAD RATING OF THIS DOOR. AMB_CON Ewg| !BEI"IQTERA b TRACK
LOW HEADROOM OPTION
CENTER HANG REQUIRED FOR 2 .
S SoRe VR o i (AVAIL. FOR BOTH 2" AND 3" TRACK)
| N DOUBLE HORIZONTAL
TRACK.
: _ = m 1" DOOR OVERLAP (EACH SIDE)

STOP MOULDING BY DOOR INSTALLER (TO SUIT).

" 2x6 SYP WOOD JAMB. SEE
e, e SORIZONTAL RAER "JAMB PREPARATION NOTE". s SEE SHEET ONE FOR END STILE AND SECTION CONFIGURATION.
MIN. ANGLE DIMENSIONS 3-1/4 x 2-7/8". HANG BY DOOR
VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING  OTALLER. i =3 ) |
= JUNCTION. TWO 1/4” BOLTS |—— FROM LAST MOUNTING 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED ?
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION ANGLE. SEE LAG BOLT MOUNTING AT TRACK . ,
G - CONFIGURATION BELOW. .,
T 7/16" 1.D. SEE SHEET ONE FOR CENTER
x P ADDITIONAL MOUNTING SLOTS ROUND PUSH HINGE CONFIGURATION.
S SPACED AT 12" CENTERS. NUT FASTENER
o 0.101™ THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END
" | 12" ON CENTER TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
£ TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
] 46" NUT AT EACH MOUNTING SLOT.
S 3" DIA. LONG STEM BALL BEARING STEEL ROLLER.
[&]
2 34" NE. /" TRACK BOLT AND NUT AT EACH
i MOUNTING SLOT LOCATION.
Y o a SECTION C-=C
.
DOOR | VERTICAL
HEIGHT |TRACK LENGTH
7'-0"| 72
8'-0" | 84"
9'—0" [ 96"
0'—01 108"
2-01132 ONE 5/16" x 1-5/8" LAG SCREW SPACED AT
4-01156 THE SAME DISTANCES AS THE TRACK BOLTS (I.E.
6-0] 180 3-1/2", 107, 22", 34", 46", ETC.). ADDITIONAL
LAG SCREWS LOCATED AT 16", 28", & 40" FROM
BOTTOM. TWO LAG SCREWS ALSO LOCATED
ABOVE VERTICAL/HORIZONTAL TRACK JUNCTION. DESIGN LOADS: +25.0, —27.5 PSF
TEST LOADS: +37.5, —41.5 PSF
8585 Duke Boulevard
= l:lnpay' %‘?soﬁ' %%43%04%%3 CLOPAY WINDLOAD RATING
el. No. T =
CORPORATION  Fax No. 513-770-4853 \/\/ 4
DESCRIPTION: M/N 904 24" WIDE +25/—27.5 PSF
DRAWN BY: JDW DATE: 10/10/22| SCALE: DWG.
DESIGN ENGINEER: CHECKED BY: DATE: SHEET 2 OF 2 [SIZE
MARK WESTERFIELD, P.E.
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DWG. NO.: 105886 VERSION: TDI
4 3 . 2 1




